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84.0), AREAT—A%E XAHE
LRGEREE (190) 574 (227. 0) FF, AR T & ARG EIRS £ X ER

REREMEC (2600.0) 5i%EEC (2000.0) RELK KA, /T
[B&REC 5420.0 K&, #iYF{KECAE&HikE R

HEEIHECE (2600. 0 vs 5420.0) i35
RE R EERE 3 HEREC/PHIEL SR 5, A

NN =2
AEF2

MR B R 56




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-13_0, Day=26 (2025-04-26)

10— — T T T T
V1, VE3ERV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET - 1000
782
51 670 1729 144251 750
520 0
50 1 L 500
25 L 250
Warning: lcol [FVI',| "FVO’'] missing
0 0
0 - -0
150 1 sy v —— ME B30
FRV maxM
Mmy———t————————t——_—-— . ¢ & ¢ & ¢~ & o — -
L 25 LIJI

a1

o
1
|
|
|
|
|

M

~ 11T 1T 20
o I

n
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 4 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 4 TargetPH=6. 5, TargetSetPH=5.6 N
0.6 -
0.4 4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
. _ ! _ 1500
Bylnit @D28 06:40: ET=618 Fg—|1080.0 Ro=400. 0
200 - !
: *—* L1000
| o—eo
] 1
100 : - 500
o —0—0—@ |
0 - PPN Py 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 | 1500
I T 0 T 0 O 0 0 0 0 0 0 0 0
200 - e — = !
ByEt @D26 18:38: ET=837 Fg=516.0 Ro=nan : o —o ° L 1000
1
] 1
100 e o o o +o o e e o |50
1
1
o0 —0—0—0 0 e | |
0 P—a P P 'S P D —— 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 | 1500
BE | B | BB | B | BB | B [ | BB || B | FA 5 5 5 B REARE R ERERERRERRERRES
200 - !
. . = = =
ByWoFv @D28 06:40: ET=782 Fgl800.0 Ro=1.0 o —o ° L 1000
: e e e o
] 1
100 : - 500
p— o ——0—0—0— :
1.0 p———ap P N P WS — 0

0.6

0.4+

0.2~

0.0

—_— 4
o | _obs

—@— PPFD obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=515, FV0=0 m=605, FV0=0 m=665, FV0=0

— NE 2114 4 ME 21.04 _g ME 21.24 4 M E
21.0 20.9 21.1 4
20.9 20. 8 21.0
20. 8 20. 7 20.9
20.7 20. 6 - 20. 8 -
T T T T T T T T T T T T T T
500 600 700 800 900 515 520 525 605 610 615 665 670 675
m=725,m FV0=0 m=785,m FV0=0 m=845,m FV0=0 m
] ] 31.0 A
o WNE 21.6 — NE 21.6 o WNE
30.5
21.5
21.5
30.0
21. 4
21.4 29.5 -
21.3
21 34 29.0
21.2
28.5
21.1 4 21.2
T T T T T T T T T T T T T T
725 730 735 785 790 795 845 850 855 500 600 700 800 900
m=515,m FV0=0 m=605,m FV0=0 m=665,m FV0=0 m=725,m FV0=0
31.0
—— MW 30.0 17 _o— MW —— MW —— MW
30. 5 30.5
29.5 -
30. 0 1 30. 0 1
29.01 29.5 - 29.5 -
28.5 29.0 1 29.0
515 520 525 605 610 615 665 670 675 725 730 735
m:785,m FV0=0 m:845,m FV0=0 m m
—o— MW 30.0 17 _o— MW
29.5 -
29.0 -
28. 5 -
785 790 795 845 850 855
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100

50 -
:20
80
:20
120 - 60
:20
120 - 40
:20
20
:50
125
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é§¥ égf 45# & g& 4? %QQ %gr



P3-13

AyiE) | EBIATK (FD) | EBE (BEH/HK) | XHR R

07:20 240 90.0 BE| {Ri&e07:20 Fz (REAEHE)
08:20 240 90.0 RS {Ri%@08:20 Fzi (KREEEE)
09:20 240 90.0 B {Bi1ge09:20 Fz (KRPHERE)
10:20 240 90.0 S| 1Ri%@10:20 Fzi1 (REAEESE)
11:20 240 90.0 S| Ri%e11:20 Fz1 (REAERESR)
12:20 240 90.0 RS fRige12:20 Fzf (REERE)
13:50 240 90.0 5| {BRig013:50 F51 (RPHERKSE)
15:25 240 90.0 RS {Ri&ke15:25 Fzf (REAERS)
21t 1920.0 (8%) 720.0 3 WHKEC: 2080.0, PH: 5.6

TERRHEBR 2 STEEARTF (156.0 :

106.0), FlEEHT—@ % XA HS

LRGERRETC (240) 574 (205. 0) FF, FIREHI T & REEIRS £ XER

ZRIASERRIERE106.0 ml.

large discrepency for begining water status (172:282.0), set to 194.0 ml.

RER 3 B RECHUER SR L.

BEREREC (2580.0) H5iZEEC (2000.0) HEIKA, B/ET
[E&REC 5420.0 K&, iU F{KECAE&P%E R

FERECE (2580. 0 vs 5420.0) 145
RE R E BRI HEREC/PH{E SR 5L, ATRER

MEAEER SR




P3-13_0, Day=25 (2025-04-25)

804 VI, VG3ERV, ET = VI, VO, FVI, FVO, FRV, ad jFRV, ET 936 - 1000
60 660 33 670 3g43f 750 T
40 4 L 500 E
>
o
20 - - 250 '+
0 Warning: lcol [FVI',| "FVO’'] missing 0
200 4 -0
_ ¢ v —— ME p30.0
-'IE 150 FRV maxM L 07 5
=
=100 A - 25.0
E
= 50- L 22.5
[
F20.0
1.0
n
0.8
0.6 -
0.4 1
0.2 A - —1—
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 4 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A - —1—
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 4 TargetPH=6. 5, TargetSetPH=5.6 N
0.6 -
0.4 4
0.2 A - —1—
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
- Bylnit @D28 06:40: ET=550 Fg‘—:960. 0 Ro=393.0 t ~
+ 200 - i t
2 ! & e e o - 1000 <
~N | ~N
= : @ < @  J E
= 100 4 i =
E ! 500 1+
" I 3
b o - e o ,
0 P PN PN 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
— HHE HEE HEE Hi HHE HEE HEE Hi HHE HEE ES ES == E3 ES ES == E3 ES ES == E3 ES ES —
_E, 200 B B B B B B B B B B B B B B B B B B Fll B B B B B _E,
- ByEt @D25 18:40: ET=692 Fg=636.0 Ro=nan [ - 1000 2
3 lo—o—eo—o—=o <
< £
S © & ‘e @ @ @ @ ~
& 100 : - 500 -
— o —0 06— & !
0P P PN a i — 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
D 200 BB | BB | BB | BB | 2|2 (Zn| BB | BB | B i 5 5 5 i 5 5 5 i 5 5 5 i 5 i~
c 1 c
= ByWoFy @D28 06:40: ET=643 Fg3720.0 Ro=3.0 - 1000 2
~N ~N
= ! - ——— 1 =
= 100 4 i =
E ! 500 1+
" ! :
b o - o e o , 3
1.0 P P PN I —— 0
) 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
osl B | B | |# |ZF[(Z-|%=|( B [ BB | B i 5 5 5 i 5 5 5 i 5 5 5 i 5
0.6 -
0.4 1
0.2 A
2808 r —_— 4
| _obs
PPFD_obs




m=515, FV0=0 m=605, FV0=0 m=665, FVO0=0
1.0
2081 o ¢ —o— MNE
_ 21.6 A
20.7 - 0.8
20.6 1 0.6 1 21.4 1
20. 5 0.4 -
21.2 A
20 4 . 0 2 _
Warning: col ['M_E'] missing
20. 3 A 21.0 A
T T T T T T T T 0 0 T T T T T T T T T
500 600 700 800 900 515 520 525 0.0 0.2 0.4 0.6 0.8 1.0 666 668 670 672 674
m=725,m FV0=0 m=785,m FV0=0 m=845, FV0=0 m
1.0 v3 1 36
1T —e— ME —o— ME —o— MW
0.8 1 23.0 - 23.6 1 34 -
22.9 A
0. 6 N 23 4 - 32 .
22. 8
0.4~
- 30 -
22.7 23 2 -
0.2 22.6 - 28
Warning: col ['M_E'] missing
22.5 A 23.0 A
0. 0 T T T T T T T T T T T T T T T
0.0 0.2 0.4 0.6 0.8 1.0 785 790 795 845 850 855 500 600 700 800 900
m=515, FV0=0 m=605,m FV0=0 m=665,m FV0=0 m=725,m FV0=0
28. 25 1 1.0 1.0
—— MW —— MW
28. 00 - 0.8 1 29.51 0.8 1
21.75 7 0.6 - 29.0 1 0.6 -
27. 50 -
0.4 - 28.5 1 0.4 -
27. 25 A
0.2 28.0 1 0.2
27.00 - Warning: col "MW 1] missing Warning: col "MW ] missing
T T T O- 0 T T T T 27- 5 T T T T T 0- 0 T T T T
515 520 525 0.0 0.2 0.4 0.6 0.8 1. 666 668 670 672 674 0.0 0.2 0.4 0.6 0.8 1.0
m=785,m FV0=0 m=845, FV0=0 m
33.54+ —@— MW - MW
35 4
33.0 A
34
32.5 A
33 +
32.0 -
32 4
31.5 A
785 790 795 845 850 855
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P3-13

RTiE) | EBIATK (7)) | EBE (EH/HK) | XKR SRR

07:10 240 70.0 B {Bige07:10 Fzh (RPERKE)
08:10 240 70.0 RS {Ri%@08:10 Fzf (KREEEE)
09:10 240 70.0 el Ri&e09:10 Fz (REAEEE)
10:10 240 70.0 el Ri&e@10:10 Fz) (REAEHE)
11:10 240 70.0 el Rige11:10 Fzy (REERSE)
12:10 240 70.0 RS fRige12:10 Fzf (REERR)
13:10 240 70.0 B 1Rige13:10 Fzh (REEZESE)
14:30 240 70.0 RS Rige14:30 Fz (REAEHE)
23t+]1920.0 (8%) 560. 0 3253 %EC: 2080.0, PH: 5.6

TERRHEBR 2 STEEARTF (156.0 :

ZRIASERRIERE103.0 ml.
MR i Bl RECE IR fR 5k .

103.0), AlEEHT—@ % XA HS
LRGEREC (240) 5748 (163. 0) FF, FIREH T & MREEIRS £ XER

BEREMEC (2590.0) 5i%EEC (2000.0) RELK KA, BH/E
[B&REC 5420.0 K&, #iYF{KECAE&HikE R

HEEIHECE (2590. 0 vs 5420.0) i35
RE R EEBE 3 HEREC/PHIE SR, AIHERS

MR B R 56




2

1

1

FRV (ml plant-1)

1.

1

1

ET (ml/hr/plant)

2

1

1

ET (ml/hr/plant)

2

1

1

ET (ml/hr/plant)

1.
0.8
0.6
0.4+
0.2~

0.0
2000 {

15

1000

5

P3-13_0, Day=24 (2025-04-24)

60

40 -

20 -

00 5

50 -

00 -

a1
o
1

480

702

62

Warning: lcol [FVI',| "FVO’'] missing

V1, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 936

Vi
FRV

0

Warning: lcol ["WC1',  "WC2'] missing

- 1000

- 750

- 500

- 250

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

50 -

00 -

50

]
Bylnit @D28 06:40: ET=285 Fg5500. 0 Ro=202.0

- 1000
7

- 750
- 500

- 250

6

= 9000

00

i

i

[

50 -

00 -

50

b

o -—o

2

ByEt @24 18:42: ET=354 Fg=618. 0 Ro=nan

- 750

- 500

- 250

0

—
1

2

5

6

7

= 9000

00

[

i

[

i

B

HEE

i

= HHE E3 ES = E3 E3 ES = E3 E3 ES = E3 E3 ES

B B 5] B B B 5] B B B 5] B B B 5]

50 -

00 -

50

0 1

]
ByWoFv @D28 06:40: ET=524 Fgﬂ560.0 Ro=0. 0

- 750

- 500

- 250

9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

= HHE E3 ES = E3 E3 ES = E3 E3 ES = E3 E3 ES

B B 5] B B B 5] B B B 5] B B B 5]

00 ~

00 ~

—_—
[ ] | _obs
—@— PPFD obs

80

60 -

40 -

20

RH

RH_obs

RHo obs

n‘v; ° ’h ® P

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



—o— M_E
21 -
20 -
19
18_ T T T T T
500 600 700 800 900
m=725,m FV0=0
—o— M_E
20. 2 -
20.0
19. 8 ~
19.6
T T T
725 730 735
m=515,m FV0=0
22. 60 ~
22.58
22. 56 A
22.54
22. 52 A
22.50 MW
515 520 525
m=783,m FV0=0
28.5 A
- MW
28.0
27.5 A
27.0 -
26.5 -
26.0
25.5

790 795

18.

18.

18.

18.

18.

18.

21.0 A

20. 8 -

20. 6

20. 4 -

20. 2 -

22.

22.

22.

22.

22.

22.

22.

m=513, FV0=0

20

18 +

16

14 4

12 4

10

—o— ME

i

5é0 5&5
m=785,n FV0=0

T
515

—o— ME

760 7é5
m=605,n FV0=0

60 -

55 -

50

45 -

40 -

35 A

30 -

GiO 6%5
m=845,n FV0=0

605

31 -

30 -

29 -

28 A

-o— MW

iy

845 850 855

18.

18.

18.

18.

18.

18.

18.

21.

21.

21.

21.

23.

23.

22.

22.

m=605, FV0=0

60

55 A

50 -

45 -

40 -

35 A

30 A

—o—

M_E

6i0 6%5
m=845,n FV0=0

845

860 8%5
m=665,n FV0=0

—o—

M_W

665

670 675

m=665, FV0=0

19. 4 ~

19. 3 A

19.2 4

19.1 ~

19.0 4

18.9 A

18. 8 -

-e— ME

T
665 670 675

30 A

28

26 -

24

22 -

M_w

T T
700 800

m=725,m FV0=0

T T
500 600

900

25.0 -

24.5 A

24.0 A

23.5 -

—— MW

725 730 735



